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Diploma Engineering - SEMESTER-I11 « EXAMINATION - WINTER 2013

Subject Code: 3331703 Date: 30-11-2013
Subject Name: Digital Techniques
Time: 02:30 pm - 05:00 pm Total Marks: 70
Instructions:
1.  Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.
6.  English version is authentic.
Q.1 Answer any seven out of ten.
1. Convert (125.5),0 decimal number into hexadecimal number system.
2. Convert hexadecimal number (AS5);¢ into binary & decimal number system.
3. Convert binary (11011.101), into hexadecimal & octal number system.
4. Obtain gray code of binary number (101011), & (10101),
5. Obtain binary code of gray code number (10101), & (11011),
6. List basic gate & write truth table of NOT gate.
7. Draw symbol of two input EX-NOR gate & write truth table of it.
8. Find I’s & 2’s complement of number (110101);
9. Add(10101),+ (2A)16=( )2
10.  Subtract (110111),-(10101), =( )2
Q.2 (a) Draw electrical equivalent circuit of two input OR gate & write truth table of
it.
OR
(a) State demorgan’s theorems and write its expressions.
(b) Draw logic circuit of AND ,OR and NOR gate using NAND gate.
OR
(b) Draw logic circuit of AND ,OR and NAND gate using NOR gate.
(c) Draw symbol of three input Ex-OR gate & write truth table of it.
OR
(¢) Explain sum of product method & product of sum with two variable .
(d) What is two state operation ?Explain positive & negative logic system .
OR
(d) Design logic circuit using logic gates for Pressure logic operation having
pressure switch configuration H, L.
Q.3 (a) Draw logic circuit of 4 bit binary to gray code converter.
OR
(a) Draw logic circuit of 4 bit gray to binary code converter.
(b)  Write truth table of full adder and draw logic diagram of it.
OR
(b) Draw logic circuit of 2’s complement subtractor/adder.
(c) What is multiplexer? Draw & explain 4 to 1 multiplexer.
OR
(c) What is demultiplexer? Draw & explain 1 to 4 demultiplexer.
(d) Draw karnaugh maps for expression F(P,Q,R,S)=Xm(0,1,2,3,8,9,10,11) and

simplify it.
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Draw karnaugh maps for expression F(A,B,C,D)=Xm(1, 3, 4, 6,9, 11, 12,14)
and simplify it.

With logic circuit and truth table explain S-R flip flop.
OR
With logic circuit and truth table explain J-K flip flop.
Differentiate between combinational and sequential logic.
OR
Design logic circuit using logic gates for temperature logic operation having
temperature switch configuration HH, LL.
Design logic circuit using gates for level logic operation having level switch
HH,H,L ,LL.

Draw and explain 4 bit ripple counter.

List type of shift register & explain serial shift register in brief.
List type of A/D and D/A converter.

Define synchronous & asynchronous operation.
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